UNIT 26:

Trigonometric Functions

Level 1

1

[3]

[4]

[5]

If 0°<0<90° and 3sin6=2, 8=
B 41.8°

A 33.7°

If 0°<0<90° and 2tan6-5=0, 0= .

A 21.8°

B 23.6°

C 36°

Which of the following functions shows the given graph?

A y=sinx+1
B y=sinx+2
C y=2sinx
D y=2sinx—1
E y=2sinx+1

C 48.2° D 56.3° E 60°
D 66.4° E 68.2°
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Which of the following functions shows the given graph? .

A y=tanx+1
B y=tanx -1
C y=—tanx
D y=Il—tanx
E y =tanx

90°/ 180° 270°/ 360° -

The figure shows the graph of y = 20032;—. The coordinates of P are
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Clue
No clue.

Clue
No clue.

Clue
This is a sine surve, concentrate on the amplitude

Clue
The curve is a graph of
 y=tan x being shifted upward.


Clue
At P y= -2 (min.)Now solve for x.


[6] The maximum value of is
2—cosB
A B 1 c L D 1 E 3
3 2

[71  Solve (sin8-1)(3cos8-2)=0 for 0°<6<360°. [

A 90°

B 48.2°, 90°, 311.8°

C 48.2°, 90°, 131.8°

D 48.2°, 90°, 270°, 311.8°

E 41.8°, 90°, 138.2°, 270°
[8] Solve tan?0—3tan0 -4 =0 for 0°< 0 <360°. .

A 45°, 225°

B 135°, 315°

C 76.0°, 135°, 256.0°, 315°

D 45°, 76.0°, 225°, 256.0°

E 14.0°, 135°, 194°, 315°
Level 2
[9] Which of the following functions shows the given graph? .

A y=2sinx y

B y=2sin(x-10) !

C y=2sin(x+10) 2\

D y=2cos(x—-10)

E y=2cos(x+10)

0
-2

[10]  The figure shows the graph of y = %sin 2x. Find the area of the rectangle OABC.

A

B

A oa A D= -



Clue
For the given expression to be maximum, the denominator must be minimum, so....

Clue
sove two equations:
Either the first factor equals to zero, or the second factor equals to zero.

Clue
Doesn't it look familiar? (Quadratic equation? )

Clue
Concentrate on the horizontal shift.

Clue
Clue 1: What is the max. value of y
Clue 2: At point A, y=0


[11]  Which of the following shows the graph of 1—2cosx? .

A

[12]  The figure shows the graph of y =k tanx. Find the value of .

A -2
B -1
C 1
2
1
E 2

) E

— Qe -E ------



Clue
The curve of 
-cos x will be the mirror image of y=cos x reflected along x axis.

Clue
When x = 45, y= 2, so....


[13]

[14]

[15]

[16]

[17]

[18]

[19]

[20]

The maximum value of sin”> 0@ +3cos>0—2 is .

A 0 B 1 c 2 D 3 E 4
Find the minimum value of y = ——1—2 .
(sinx—2)
Al B L C D 3 E 9
9 3

The maximum value of 2sin—g-+cos2 g is

A 4 B -2 C o D 2 E 4
tan 0
If =2+/3 and 0°<0<2m, 6=
cos 9 .
T |4 4r
A - D — or —
6 3 3
B E E E or g_n_
3 3 3
C T or o
3 3
Solve cos’0+sin®+1=0 for 0°<0<360°. .
A 90° D 30°, 150°
B 270° E 30°, 330°
C 90°, 270°

Solve 3sin’@—5sinBcos®+4cos’6 =1 for 0°<O<360°. .
A 45°, 135°

33.7°, 135°, 236.3°, 315°

33.7°, 45°, 135°, 213.7°

45°, 56.3°, 225°, 236.3°

45°, 56.3°, 225°, 303.7°

m g O @

For (0 <8 <2n, how many roots does the equation sin’@—3sin0+2 =0 have?
A 0 B 1 c 2 D 3 e 4 |

Find the numbers of points of intersection of the graphs y =sinx and y =cos’ x in
the interval 0°< 6 < 360°. B
A0 B 1 C 2 D 3 E 4


Clue
Old time buddy: apply:
(sin A)^2 + (cos A)^2 = 1

Clue
What is the largest possible value for the denominator?

Clue
Completing the square.

Clue
Write tan as sin/cos, then express cos as sin.

Clue
Same track, but easier than item 16.

Clue
Express the 1 on the right as :
(sin Q)^2 + (cos Q)^2

Clue
Solve the angle, use corss method.

Clue
Similar to item 19. Form an quadratic equation in term of sin.
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